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λ4 + I1λ
2 − I2 = 0, )���-
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� !������� ���!��� ����������������� ���� Fαβ * I1 = FαβF
αβ � I2 = F ∗

αβF
αβ
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�� G (λ) ��� ������
 � �	�
���
����
 ����������
 �����
�
���
���
 a0, a1, a2, a3, a4

G (λ) = a0λ
4 + 4a1λ

3 + 6a2λ
2 + 4a3λ+ a4 �����
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�� �� ��� � �!"
������! ������
��! ���
���� �	��� !	�# 
�
�$����� � %&℄# ��� � � 
� 
�
��	��� G (λ) ���"	�$����� � "��������� ! �
���!( ����! � ����)�(  	�"���

������� �	��"	��
�����
� ��	������� λ.

*!��� α + � 
� 
� �!
�� ������
��� G (λ) # ���� G (α) = 0. ,�� �� �����!

λ = α+ 1/X. �����

*� ����
�� �� � ����� 
 �	
�� � �� �"��� �
��� � !����� G (α) = 0, ��
!�
�

G (X) =
(

1/X4
) (

4A1X
3 + 6A2X

2 + 4A3X +A4

)

, ���&�

� � �����
�
����A1, A2, A3, A4 ��-� ���� �!���  
���	���
	����
� 
�-� ���� ������
���G(λ)
�� λ ���"-� 
��� �
�
� 	�� �	
 λ ≡ α.

G′

λ (α) ≡ 4A1 = 4
(

a0α
3 + 3a1α

2 + 3a2α+ a3
)

; �����

(1/2!)G′′

λ (α) ≡ 6A2 = 6
(

a0α
2 + 2a1α+ a2

)

; ���/�

(1/3!)G′′′

λ (α) ≡ 4A3 = 4 (a0α+ a1) ; ���0�

(1/4!)GIV
λ (α) ≡ A4 = a0. ���1�

2�
���# ��� A1 �= 0 # �����
��!���� ����� �������

Λ = A1X +A2/2. ���3�

4�

 � ������ ����
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���
� 	�������� G (λ) = 0 # �� ���
� �����
�� ��	������� �	
-� 
� � �!"
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(# ��
����()!( ������	��! �"�	�
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������	��- ������	�� %/℄�

Λ3 + pΛ + q = 0. ���5�

� � �����
�
���� p 
 q 	����

p = −g2/4; q = −g3/4, ����6�

� � g2, g3 �!�� 
���	
���� �	
��� ��� ������
# 	����� ��������������

g2 ≡ 3A2 − 4A1A3 = a0a4 + 3a2
2
− 4a1a3; ������

g3 ≡ 2A1A2A3 −A3

2 −A2

1A4 = det





a0 a1 a2
a1 a2 a3
a2 a3 a4



 ������
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��� G (λ) .
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������! !	�����
( �6����
, ���� �
!��� a0 = 1; a1 = a3 = 0; 6a2 = I1; a4 = −I2

2
. *�����!  
� α �= 0 ��
!����

g2 =
(

I2
1
/12− I2

2

)

; g3 = − (I1/6) ·
(

I2
1
/36 + I2

2

)
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Q = (p/3)
2
+ (q/2)

2
=

(

I22/
(

63 · 27
))

·
(

4I22 + I21
)2

������
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��
 ���
� �
�����
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�
� Q ≥ 0.
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	���� ���� �E � �
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�������� ���� �B �������
�"���� &���
 ����� ��
��
��� ���'� �
��� �
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���

Λ1 = −I1/6; Λ2 = Λ3 = −Λ1/2 = I1/12. ����)�

*�� ����

p = −I21/
(

6 · 23
)

; q = I31/
(

63 · 22
)

> 0. ����+�
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�����
�������� ����� ������.
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����� ���
 D � ��
���
������� 	���

 1#℄�

���� �� �������� �	
	�
���
 ������ �	 �������
� ���	������� �	�	��
��� p � q. ����
���� �
�����	 ��
��

�������������� �	�	���
 
��	 D

3 	��! ��
�
�"� q = 0, p = I2
2
/4 ��� I1 = 0 ���� ���%
	��� ���
� ���
�
�� ���%��� �
 �	�

p � � Λ1 = 0; Λ2 = −Λ3 =
√−p. 3 �	(����. �
��	� �0��� ��

�

(

λ4 − I2
2

)

= 0, �� 
	�" �

����
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��
��
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Λ2 + p = 0. ����8�
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. ���
�

� 
��
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�����
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�� �����
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���
�" ��� �	(����. �
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Ψ0 − 4ΛΨ1 + 6Λ2Ψ2 − 4Λ3Ψ3 + Λ4Ψ4 = 0, �%&��

��� Ψ0,Ψ1,Ψ2,Ψ3,Ψ4 
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